National Institute of Ayurveda
Deemed University

Vacancy Notification No.2/2023,NIA Jaipur
Examination held on : 01/10/2023

1.Post : Multi tasking staff (MTS)

Greviance on question number 4,5,6,24,27,41, 71 ; TOTAL - 07

[ S.N Roll No.
By 29386
2 29345
e2n - o o

3. 29345
i Zﬁ 29484

Name

NITESH KUMAR
SHARMA

Mukesh kumar
ghotiya

Mukesh kumar
ghotiya

Ravikant yadav

Question Number

T TR

24

71

Grievance

incorrect

All Options are

incorrect

options are
correct

27

Option C should
be correct answer

Options are

More than 1

Grievance
Details

are incorrect
according to
“vartini”

The area of
equilateral
triangle having
side A equals to

“a" =V3/4 x a?

B are correct

Word pleasant

must be an
adjective

option A & B both

Correct answer is-

Both option A and

tells about quality
therefore pleasant

AnswerKey




Option D should Unkind is an
be correct answer antonym for

Out of syllabus Out of syllabus
— Out of syllabus Out of syllabus
|6 | Outofsylabus | Outofsyllabus S

Ravikant yadav
Ravikant yadav

29484 Ravikant yadav

2.Post : nursing officer

GREVIANCES ON QUESTION NUMBERS- 44 ; TOTAL- 01

;r Question Number Grievance AnswerKey
,‘r i Details

B
(nursing officer
modern)

Incorrect answer Correct answer
should be option
C?

As per reference
submitted, a child
can upstairs in 18
months and at 15
months child is
able to walk alone

Hemaraj
choudhary




National Institute of Ayurveda
Deemed University

Vacancy Notification No.1/2023, NIA, Panchkula
Examination held on: 01/10/2023

1. Post : Assistant Professor

GREVIANCES ON QUESTION NUMBERS

A. RACHANA SHARIR- - 06, 51, 67, 77, 81, TOTAL- 05 E. PRASOOTI TANTRA- 29, 60, 76, 96, 97 ; TOTAL - 05
B. KAYCHIKITSA - 13 ; TOTAL - 01 F. SHALAKYA - 34 ; TOTAL-01
C. DRAVYAGUNA - 49, 97 ; TOTAL - 02 G. PANCHAKARMA- 41; TOTAL -01

D. SHALYA - 25, 13; TOTAL - 02

F S.N Subject Roll Name Question Grievance Grievance Details Answer
{ no. Number Key

3 Rachana 09001 | Akanksha rana 06 Answer given in answer key A
W sharir is incorrect

2 Rachana 09002 | Deepak sewda 06 Answer given in answer key Correct answer is option B A
o sharir is incorrect Refrence Su.sha. 4/21

3. Rachana 09002 | Deepak sewda 51 Wrong answer key Correct answer should be B €
R sharir

4. | Rachana 09003 | Poonam gupta 06 Answer given in answer key Correct answer is option B A
L - sharir is incorrect Refrence Su.sha. 4, pg no. 49

5 Rachana 09003 | Poonam gupta 67 Answer given in answer key Correct answer is option C D

sharir is incorrect REF- park’s textbook of preventive
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and social medicine, edition 23,
chap 18, pg 852

S S

6. Rachana 09003 Poonam gupta 77 Answer given in answer key Correct answer is option D;
sharir is incorrect Refrence attached
7 Rachana 09003 Poonam gupta 81 Answer given in answer key Correct answer is option D,
sharir is incorrect Refrence attached
8. | KAYCHIKITS | 05027 | Devesh jaiman 13 More than one option are | As per refrence option C and D are
L A correct correct
9. | KAYCHIKITSA | 05059 Mythri H.S Request for extension of date of
P submitting greviances.
10.| Dravyaguna | 03035 Lalit nagar 49 Question is wrong Aadya pushpa is not a single plant
but combination of 3 dravya i.e.
chandan, kumkum and vari
Refrence- kaidav nighantu, mishrak
B varga
11.| Dravyaguna | 03035 Lalit nagar 97 Question is not specific In question, it is not specified that
which operating system is asked.
Shortcut keys are different in
different operating systems. In I0S,
there is no control key UNIX, UMS.
12. Shalya 13013 | Manmahendra 25 Right option is not All options are incorrect
3 singh mentioned in all 4 options
13. Shalya 13013 | Manmahendra 13 Incorrect option (D) is Correct answer is option C as per
singh given in answer key. refrence Bailey & Love — short
practice of surgery, pg no. 940, 27"
edition
14. Prasooti 08045 | Swati malsariya 60 Incorrect option (B) is given Correct option should be D .
tantra in answer key. REFRENCE Charak samhita
15. Prasooti 08045 | Swati malsariya 97 Wrong question Shortcut keys are different in
tantra different operating systems.
16. Prasooti 08030 PRIYANKA TK 76 Option A and B both are Blinding and masking are
tantra correct
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17. Prasooti 08030 PRIYANKA TK 96 Given image in the
o tantra question is not clear

18. Prasooti 08030 PRIYANKA TK 29 Option A and B both are PELVIC CAVITY- Segment of pelvis

tantra correct bonded above inlet and below by
PLD.
OBSTETRIC OUTLET-
Segment of pelvis bonded above
PLD and below by anatomical

p outlet

19, Shalakya 12032 Mansi verma 34 Incorrect answer Correct answer should be A
:r 20. | Panchkarma | 07011 | Chetan gulhane 41 More than 1 options are 2 options are correct, A and D REF.
L ‘l correct A.H.SU. 22/32

2. Post : Medical Officer

GREVIANCES ON QUESTION NUMBERS- 04, 26, 35, 44, 92, 93; TOTAL - 06

’_S.T Roll No. Name Question rievance Grievance Details Answer
Number Key
o 21055 Devesh jaiman 26 More than one option | Correct answer according to ch.sha.8/33 should B
are correct be B,C,D
2 21228 SONALI BISHT 04 More than one option Multiple sources have given a range 0.2 to 1.2 B
are correct per kg per day
! 3 [ 21228 SONALI BISHT 35 Name of acharya not As per ch.si. 2/20, nasya is contradicted in A
f ! specified in question nootan pratishyaya; acc. To sushruta, avpidan
e nasya is indicated in nootan pratishyaya
! 4 21228 SONALI BISHT 44 Given answer is wrong Correct answer is D. refrence attached A
s 21228 SONALI BISHT 92 Incorrect answer in Correct answer should be option D. B
| answer key MS excel by default deals with sheets and not
B pages so page border has no relevance.
| 6 T 21228 SONALI BISHT 93 All the options are “Find and replace” in MS excel can do all the A
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] _—m task mentioned in options A to D ]

3..Post :Accountant

GREVIANCES ON QUESTION NUMBERS - 08, 11 ; TOTAL - 02

Question Grievance Details
Number Key
Amar singh Incorrect answer in Correct Answer should be option A as per
answer key (option D) refrence attached

Deepak singh rana Incorrect answer in Correct Answer should be option A as per
answer key (option D) refrence attached
Deepak singh rana 11 Incorrect answer in Correct answer is option D. principle of

answer key

Roll No.

considering other views is not an independent
principle . it is a part of employees participation
in decision making.




